WFACHS: 300648 WEHRRIRR: Bkt NEYT: 2021-063

REE S B TRAERAF
RKTHERB T AEZERSHTAEEHBEE K A5

AT REFEERRARIES BEENATRE. #. B8, A8
BRicE. RPEHRRRE R

BEE B TR AERAR (LU “2an6”) 06T 2021422 H 5 H.
2021 4F 2 7 23 HATT 1B =Jm e SR 58 )RS M 2021 4755 — X N i AR
o, HGEN 7 CRT MW E S E TS TS E B NE), £
NFIEFHEEMGFER SRR EERMEN T, FEMEHAT 20,000 /57T
NN B SR SR AT A HE, S A R AR B 77 i A7 R 2
AR v A R 2021 455 — IR B AR K w0 2 Hig 12 AN H . 78 Bk
B S AT R, ATEIRR SIS . IR, R KSR R SE H KA Tk
EFF I SR IN B SR T e T IS A RN — UV AR i . AR kST
HHE, WHES REVRER THAKFEEEN. BAENESHVEN, 2021 4F
2 6 HA 2021 422 H 24 HPET (PEREZRRD EEIEZRHD) GIEZRITHR)

CGIEZE HARY A0 E 2 3H M (www.cninfo.com.cn) _F Y (56 T-f8 F 370 N B 554
REHTUEEINAS) (A5%%5: 2021-014) 1 (2021 455 — kI B4R
SRWAE) (NdEdT: 2021-023),

>f

— AEMERE W EFER S TE 5 2] B E F 1R

2021 £ 3 H 24 H, 7wl FIER 7> R B 52 BT 4 2,000 J5 ISk T HE R ARAT
A PR A R “HRRARAT 154 RAVE B = 2 X 8] 61 RESMIMEARZR” =i
JT 2021 4 3 1 26 HAEF (5 BAER A (h ERES4R) (EIERR) GIEZ
R CGIEZEH ) AE R M (www.cninfo.com.cn) $#E T (TS
WNBEHERSHTHSEHMERAL) (AfgT: 2021-030), FIRIEIG ™ &



HARTEOLUNR -

FE i RAT £ HE AT M A IR A A
7= iR HRRAT 4 RIVEB =2 X 1] 61 R MM
PR A TRAIE BN 2 A
7= i ARAD NFZ00153
e 2,000 Ji G
7= AR 61 K

FE R AL H 2021 43 H 25 H

FEmEIRH 2021 £ 5 A 25 H

PotEibl R 1.65%-3.43%

BEERIR 43 TN B SR B 4

BWEANEH, AT AR FRFE =5, BE A4 2,000 56, S
PRI %5 55,150.68 Ju, A4 KFRAEE T 2021 £ 5 H 25 HE 3K

= AAFHIMTSAAAFRRHERARE SR RS TRSEHNFL

PR WX | PR | PERE | RR
s AR [BEERE Ll
TEM&E &% | SLH HH 4|
FERIERAT A
HEwRIT | &R9EY | BN 2021 4F | 2021 4F
10,000
1 AR | ZEXE 91| BEE 3A12 | 6H1 5
JiTt
/NG KEWHA | HE H H
=
rp [ 7 1A AR
1T “fEE
rh [ 1 TR 43R 2021 4F | 2021 4F
= T 6,000
2 BAT A BH5AE 3H12 | 9H30 5
HIRAF” JiJt
H IR A R4 H H
<R e oy ialies

Kk 2021 4F




5001 3

R -
HERAE | PR | MW 2021 4 | 2021 4F
HRATHEGY | 300 #R4esy | ELFHE Z?? 3H12 | 9H13 | % -
HIRAT | AR | B P H H

(hRfERO

FHERAT A
HRRAT | &« FRIEE | &2 2021 4 | 2021 4F
BOEIR | ZRXI 61 | 5k Zm? 3H25 | 5H25 | £ | 5515068

A H] REMAT | 5EE e H H
K

= REXH

CHA PR ARAT S5 A A ORI 2 R[] )

Rt

TR R = W1 B A PR A
HOR 2
“OZ—HHZ=+/H




